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01 int x; 003f,000001.234

02 double y;

03 scanf("%d%lIf", &x, &y) /] B+ iE i 0~65535 enfF#cl 2 0~999999 2 fF en-t i i F #ik
04 printf(" , X, Y);

(©) [10] % # » FtboT B> T AR BIEE - S3f » - BT L2 SR E o R R
scanf() PF3% £ B i? i€ * getchar() FF3% & A2

01 int i, X, sum; 1234
02 for (sum=i=0; i<4; i++) {
03

04 sum +=

05}

06 printf("sum is %d\n”, sum); // éis?] 10
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PiF- ERFBRIG FRE2E 9T TRA R GREL 0 PARR? 2 LAY

01 char c;
02 while ((c=getchar())!=EOF) {
03
04}
(e) [5] 5ﬁikt£§%1@ﬂﬁfWﬂpW’%—5Mg—@ﬁ&,%;;u AN
IRpF ~—- B AP R ASE A PARA - EY scanf() I3V i%dc [RGB R AE?
01 int x; 1234
y
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02 char ch;
03 scanf("%d", &x);
04 scanf("%c", &ch);
(OIS) 3R ™ FHERS 2 PRIV 2 G700 i8S oMUt 550 83386 ) s
ﬂx,w%mp:? &M R scanf() WP FOR S 0 A H o b 22 LAY
01 char buf[10];
02 scanf("%s", buf);
FHUBAL P kit 2 R T AR P B2 i

(a) [6] ;%‘@"* ﬁgﬁxm"f el R A T AEN PR B B AR x 32 s
BF R AR (M akded).

01 int x=13;

02 printf("decimal: %d => binary: ", x);
03 for (; x>0; )

04 printf("%d", );

05 printf("\n");
HiEFEE
decimal: 13 => binary: 1011

(b)[6] B+ 4E > fo* - Brisf Mz Ledr™ ko Flerprd g A dLerd

01 int i, b[32], x=13;

02 for (i=0; x>0; )
03 =

04 while (i-->0)

05 printf("%d", b[i]);
06 printf("\n");

HiTESE

decimal: 13 => binary: 1101

()[6] &3 2 Er s n- Bile s R @A pEd &3

01 void printBinary(const int x) {
02

03 printBinary( );
04

05}

06 int x=13;

07 printBinary(x);

08 printf("\n");

RS

decimal: 13 => binary: 1101
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01 int w, x2, x=13;

02 printf("decimal %d ==> binary ", x);
03 for (w=1,x2=x; x2 1; x2/=2)
04 w*= ;

05 for (; w>0; x%=w W/ 2)

06 printf("%d", );
07 printf("\n");
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decimal: 13 => binary: 1101

[10] $ - B F 415 5% T S Bl > blde 1113 4457111115 g% & T 7oz
FEERBIELI P G EAF PTG ORI S S TR

P
1,3,4,57,11,15 > 10-11 7l4258 4 7 & ) k4ot B pueermrsrarars
01 #include <stdio.h>

02 int main() {

03 int i,j;

04 intx[]={1,1,1,3,4,4,57,11,11,15}; JEr X[i] K BELAE E - TR

05 for (j=0,i=1; i<sizeof(x)/ st /3 x[f] ke LA fs gL

06 if ) Jia K] R Xl R xi)

07 x[_ ]=x[i];

08 for (i=0; ; it++)

09 printf("%d%c", x[i], ); // “% TR F AN B A BERFFY TR
10 return 0;

11}

4. [20] - B DNA B2 /B 2 _ATCG v fddk A & chR/ 7] > AP L R 5 chDNA B 7| ik T

S B ECRPERE  FIRL TR Y- BNt E - B DNA B A i B lice — B DNA B 7| bl4r
“ATCGA” miﬁ-@:ﬁ‘f"u{& A7 ¢ % B4 TC, TG, TA, CA, GA g 55 ¥ 2 32 iR
¥ ABCDE..XYZ > 4% - 32 (0 & (bl4e TC) fr#E 2 32 FvE B 4p F - B B
o — 2B - BER n B A B Bcho R kg 2 AT A e ElE AT Cn2) fike
£ B e BB 0 e LR 0 X £ DNA B RS FEPFF O 0 42 DNA A 7
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01 #include <stdio.h>
02 int inversionNumber(char DNAJ]) {

03 int inv, a, ac, acg, n, i;

04 n=0; while ( 1=0)n++; // 35 DNA[] 73 a 3~k
05 for ( Ji=n-1; i>=0; i--) {// 4= 41" inv, a, ac, acg % #ic
06 switch ( ) {

07 case 'T":

08 v += ;

09 break;

10 case 'G"

11 v += ;

12 ++;

13 break;

14 case 'C":

15 v += ;

16 ++, ++;

17 break;

18 case 'A":

19 ++, ++, ++;
20 }

21 }

22 return ;

23}

24 int main() {
25 char DNA[]="ATCGA",
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26 printf("inversion number=%d\n", inversionNumber(DNA));
27 return 0;
28 }
S, 1] 3%+ T Al Bk A5 e gd |5l #2557 datal[], data2[] 3| data[] © F A
B adEd [ TR
01 #include <stdio.h>
02 int main() {
03 int datal[]={6, 9, 11, 12, 15, 18};
04 int data2[]={1, 2, 3, 7, 14, 16, 20};
05 int data[100];
06 int i, idx1, idx2, idx, len1=6, len2=7, len;
07 idx = idx1 = idx2 = 0;
08 len = lenl+len2;
09 while ( <len){
10 if ( <lenl && <len2){
11 if (datal[idx1] < data2[idx2])
12 = ;
13 else
14 = ;
15 }
16 else if (idx1 <lenl)
17 = ;
18 else
19 = ;
20 }
21 printf("len=%d: ", len);
22 for (i=0; i<idx; i++)

23 printf("%d%c", data[i], " \n"[i==idx-1]);
24 return 0;
25}
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